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COMMERCE
( General / Speciality )
Course : 103
( Financial Accounting )
Time : 3 hours

The figures in the margin indicate full marks
for the questions

( New Course )

- Full Marks : 80
Pass Marks: 24

1. (a) Fill in the blanks : Ix4=4
W IR @ 34
() Accounting Standards Board was
set up in India in the year ——.

SEARAS Foy-Ray wwe ofFwmy —
Wti?r};.'wgl .



(b)

(2)

fii) The cost of goods sold on hire
purchase is transferred to

Account.
Tu-3% fes odq RER Iy —
Byere coas T W |

fiz) Rovalty paid on sales is debited to
Account.

Froa IF evEs «Afipny s ——
o cefa I 5 |

fiv) In departmental accounts, each
department is considered as a
separate centre.

el fevie aroe e a2
—— &% 25 o1y 331 39 |

Write True’ or False’ : 1x4=4

el ‘Fﬂ‘{]’ forar
fi Accounting principles are , formu-
lated by the government.

(@] The total amount tobe p.éid by the
puyer under hire-purchase system
is called hire-purehase price.
STY-3 ﬁﬁv GO wifarny e
?Wﬂﬁmwmﬁm{ﬁmﬂl

(=3 )

(ii) In branch accounting, each branch

has separate entity,

e BEIEE AfEE MU 4R WHE A |
fiv) Shortworking is the excess of

minimum rent over royalty payable

for the year.

feyr forea «rsara «fdqe I=aco[ 20
HEPAST HAP T, (I OB 27 T

e ST T |

2. Write short notes on :
5 B o=
{a) The provisions of Accounting
Standard-6
feorr-fRemra 6 ) wFa Rurenge
(b) Repossession of goods wunder hire-

(c)

(@)

purchase system
SIS-TF A% (ST A7 SRz

Inter-departmental transactions
SRR T -

Sublease

Toryg STO1

4x4=16



( 4

)

Following 18 the Trial Balance of Karan

and Arjun as on 31st March, 2014 :

T A EE WEAY AR o968 (R R[S
2014 >3 31 Tfs w2 ¢

Trial Balance / 358 f¥& [33/®

Debit Balances

Opening Stock
TS TEE N
Purchases

FH

Bills Receivable
ooy R=

Cash in Hand
w5 ZTE HaT
Bad Debts
SEEEAE A
Machinery
TR

Advertisement
et

Sundry Debtors
fafRy GmmR

?
il

1,60,000

4,00,000

4,000

26,000

2,000

1,32,000

16,000

1,00,000

Credit Balances
(FTT 7o
Sundry Creditors
iy *memmE

Bank Loan
(RFF 49

Sales
&

Bills Payable
o &=

Interest
™
Capital :
PREC
Karan
Rk
Arjun

¢
Gt

1,50,000

87,200

8,40,000

40,000

710,000

3,20,000

2,00,000

Debit Balances

w5 &S
Goodwill
L)
Land ard Building
R-IR
Fuel
Wages and Salaries
TG o TN
Rent and Taxes

T HEF FI

Discount

ELEl

Commission

Furniture

From

(%8 )

" 4 Credit Balances (e
B @5t 2l B

1740,000
4,50,000
30,000
80,000
40,000
17,200
20,000

30,000

16,47,200

the following

16,47,200

additional

information, you are required to prepare
Trading and Profit & Loss A/c and also



(6)

a Balance Sheet of Karan and Arjun for
the year ended 31st March, 2014 :

4+4+6=14

s i wfefis wapgz fom o w39 wre
g BT 2014 BHF 31 TS -,

wre-

(Y

(iz)

(i)

(iv)

(TR f2he we TS o oS 4

Closing Stock as on 31st March,
2014 was ¥ 1,20,000

2014 5@ 31 W wificy A Wy
49 o0 e 1,20,000 53

Depreciate machinery by 10% and
furniture by 5%

S 10% I/ We waE 5% 39S
T 4l

Create a reserve of 5% on Sundry
Debtors for Bad Debts

SEEEAY W A Ry o heeR®
5% 29 IRH A

Write off }th of advertising
e 23 1 wen R R

(b)

(a)

(7

Or [=311

(i) Discuss the need for introducing
and developing Generally Accepted
Aceounting Principles. 8
SR A RpeReR MRt
%ﬁﬂ wE RerearEm Saeqast | ’K*
SIS 4T |

() Discuss in brief the IFR Standards. 6

IFR Tweigza faua Wy swam wig
A |

Prakash & Co. purchased a machine on
01.01.2011 on hire-purchase basis. The
payments were to be made as follows :
£
On signing the agreement 10,000
At the end of the first year 12,000
At the end of the second year 7,000
At the end of the third year 4,400
33,400

Interest included in 33,400 was
charged on the cash price @ 10% p.a.

You are required to ascertain the cash
price of the machine and write up
Machinery A/c and Hire Vendor’s A/c in
the books of Prakash & Co. 4+5+5=14



(b)

(8)

JTM 9% @R 01.01.2011 9Rey af
Qe oT9-FT Efee T A% | WA Iram
Faw=e = Rrny 391 5% sreom tafew -

o
F& T 1 TR Ae 10,000
2T WY WE 12,000
a3 W W 7,000
TET I TN 4,400
33,400

33,400 5975 =GES T T W PR GRS
=R 10% T M1 L%
G Jom o1 R w1 W oo ae

@3 Beer 32 cffas e s sro-oy
Rezea 2o o 3411

Or / g2qr

(i) Explain the features of [nstalment- 7

purchase system.

f#f%-w1 “rafer tafErmz Sy s

fi) Distinguish between Hire-purchase
system and Instalment-purchase
system.
SIU-T e WF ey afer Twe
I ATTTR ST L

5.

(9}

(a) Gojen obtained from Brojen a coal mine

on lease for five years from 1st April,

2009 on the following terms :

2009 B A «fze wifaeq a7 5 a%a1 s

e &'ee .

{i)" Royalty is to be paid @ ¥ 2 per ton
afs B Teoifis e 2 Ga B
759 e =1t

(i) Minimum Rent is & 3,000 per year
TS figew 4 3,000

(iii) Each year’s shortworking can be
recouped during the subsequent
two years subject to a maximum of
¥ 500 per annum -

TESE FEE 500 G Bee ofe
BT ZH TR [ e ¥99ad ol
MR R SHEFE A

(iv) 1f there is any cessation of work due
to strike, the minimum rent may be
reduced proportionately with regard
to the length of the stoppage

O I FA® P o IA
ey g IRl W R
HATES 2 TR MR




(10 (A1)

Production of coal during the five years Or Fazidl
was as follows X
s TERa I TeAE AR @ R (b)) (i) WHat 18 called ‘Rock Rent’ in
w5 - Reyalty Account? 4
Year Output (in tons) o g i% A
LT B () @[ = ?
Lkile 1000 (i) What do you mean by ‘Recoupment
2010-11 1500 of Shortworkings’? What conditions
2011-12 - 1800 ) are to be satisfied for recoupment of
shortworkings? 2+3=5
2012-13 1200 & &
7 TR > = ?
2013-14 1300 = i ‘33%9[% e
T Wi I B R ovE e
During the year 2012-13, there was a g = 2
stoppage in work due to strike lasting
4 months. (i) Distinguish between Rent and
2012-13 & ZHSER FECT 4 T2 FHRAS Royalty. >
x| ST HIF TP TS U ATTOTR SR
FAII

From the above particulars, prepare
(1) Royalties A/c, (i) Shortworkings A/c

and (i) Brojen’s A/c in the,boeks of 6
Gojen. Show the Analysis Table also. - (@) In the context of Branch Accounts,

4+4+442=14 explain the following : 3%x4=14
TAATS ©A AT SR A5 (1) GRS B, 121 2517t 2p7Fs were frgrfenres amam fia

(ii) 23 TR faore @ (i) aveeE fBore (i) Goods-in-transit
T 390 | Reeme eifefmga oz 3 g | Caf{® SaFTS %7 A




( 12 ) (>,

(ii) Cash-in-transit Dept.—A Dept.—B
(2if4s STFIS 2] F9M 45 Rem—a  Rem—B
¥ ¢
(iif) Inter-branch Transactions 153 o
Wages 10,000 1,000
SR (ATHTHZ, -
(iv) Depreciation on Branch Fixed Salaries 3,600 2,400
Assets ket
1414 F) Foefen samy Trafisfer from Dept. A - 50,000
RE1(A-] »=1 T
O/ et Stock™n 31.03.2014 35,000 12,000
{b) From the following particulars, prepare 31082014 wivcy 7ER
Departmental Trading and Profit & Sales to outsiders 2,00,000 70,000
Loss A/c in columnar form for the two T e B
depments and  thereafter the The entire Closing Stock of
Combined Income Account of Red-Rose
A o Department—B represents goods
Brothers for the year ended 31st March; transferred from Department—A at cost
2014 plus 25%. Administrative and selling
@S ol R 11 @o-1"s amte w51 fasrre expenses amount to ¥ 14,000 which is

to be allocated between the two

R TRFEE 2014 549 31 W6 O et )
departments in the ratio of 6 ; 1.

QR @ 3 Redy w=-Rew e
A= 2o o aefae.mma B R
FS 97 : R&1—B-3 s PSR Fes—A-3
Dept.—A Dept—B I TS 25% @s & comq T ABHE |
Rsm—A  Re9—B o WF KRB 14,000 5 L]
v ¢ R 1 6 : 1 wyerrow Rrerem 3w i |
B i)
Stock on 01.04,2013 30,000 5,000
01.04.2013 =If¥cy 599
Purchase from outside 2,05,000 20,000

Ff2eHy



(14 (15

| Qd Course ) (i) Hirejpurchase transactions are
m . controlled by the Hire-Purchase Act
Full Marks - 80 of .

Pass Marks: 32
= ‘awﬁﬂa (a"\-ﬁ".,'ii w—m M »331

1. fa) Write True’ or False’ : 1x3=3 —&-I 99 FEES |
v & Ry S
fii) Cash sent by the branch not

1} iﬁ;&fiﬁtkés alalsoAknowz B received by the head office by the
yalty Accounts. end of the year is debited to —
e e Paed e s Account.
T e w I | -
R o T Ry IREE e
i) Unearned Income Account is a [ W R IR oms —— BRpe
liability. | i 91 27 |
SFenfere wwR o arm @% o
(i) Registration of a partnership firm is [c) Choose the correct answer : 1%x2=2
compulsory.
- . . 7 TEA0 TR Tferear ;
&5 FA] AfETTA A AqTAS |
{t) Royalty paid on sales is debited to
(Trading Account / Profit & Los
(b} Fill in the blanks : = °
] 1 1x3=3 . Account / Profit & Loss Appropria- -
T 57 @ 74 - tion Account).
() Cash Flow Statemefitwis \prepared Td RER eome  ofiomr  wfes
as per AccountingStandard —. (f=1-caom famret | =Are-coAresTa et /

A 5 o R - R = AS-(ARTEA  FAGTR  Bo1)-® (el
T S g A | I




2. Write brief notes on (any four) :

(16 )

fii) If inventory at branch is shown at
invoice price instead of cost price,
then the account which 1s used for
adjustment is (Reserve Stock
Account / Stock Reserve Account /
Stock Suspense Account).

TS TFS AT G TEEAA LTS SR
e e PR e IE IRTS
@R Bt tam (e el 35 / Ty
sy weg fBme [ WEAE e AEE
fZsmr) 1

4x4=16

5 G o (R @ wif)

faj

(b)

fc)

(d)

(e)

Instalment-purchase System
B%-27 omle

Independent Branch

ToF M

Features of Accountingdincome
B e R

Garner vs. Murray Rule

MR R 731 P

Minimum Rent
GicEriier!

3. (a)

(b)

W17 )

(i) JHow does the money measurement
concept limits the scope of
aéedunting? 4
PP TS (EA-md @ 4RI
faprer- e <ifaf e RiEe 337

(i) Write four points of the necessity of
accounting. 4

3514~ (F31a FEETE 50T $149 71 4

(iii) Write a short note on Indian
Accounting Standards Board. 4

TR Bee-fm wee  efwwa @b
WY Gl o

Or / |31

From the following Trial Balance of
Mr. Pathak, you are required to prepare
Trading and Profit & Loss A/c for the
year ended 31st March, 2014 and a
Balance Sheet as on that date : 4+4+4=12

s tge fiem fgfes «m1 31 w8, 2014
Y TRT . aped 2 #9-Rew Boe =



{18 )

o FETEE TV ORE ST TE IF TERE

P

STe THED NI PEE BT

S e
el Balance / T8 TS :‘?, 4

Deke Balamors g

Do sk
L ey J
TR =
Perchoer

=

=== T2

= e

e

w2

b g

Szl R
=EF T
Rﬂ’:a-!

=

Sziarizs
=

Czsh

T =
Drzwings
=T

50.000

32000 Crediters

R

Bz=k Overdraft

Prosision for
Doubthil Debis
Discount

11.10.600
9400
3.600

1.04.000 =3
Purchase Retumn
1.60,000 = T

Capital
30000 ==

S

48,000
11,36,000

17 800
25.G

Cradsz Balances v

=
14,00.000

1,453,000

1.00,000

4,200

500,000
L 4

g

Credit Balances i g

Debit Balances
Pecitiil o &5 FE B
Buiiding o .000
Advertis nt 20,000
ZEem &0
Interest
Z 14,000
&[T 7S
s Expenses 6,800
20.90,200 20,90,200
Adjustments :
FRIGE %D -
2

i) Closing Stock is valued at & 72,000
TR TR ARWT 72,000 T
(i) Make a Provision for Bad and
Doubtful Debts @ 5% on Debtors
SRR WE ArTEEee 99 i =l
5% NS (AR SYAT IR FAT A0
(i) Depreciate furniture by 10%
TE G S 10% IS Wy 4
342 7s
* (iv) Provide for Interest on Capital @ 6%
p.a.
TR 4T TER 6% 29 S W 3
it



4.

(20)

fa) On lst January, 2010, Assam Traders
purchased a machine from M/s Jai
Hind Machinery on hire-purchase
system. As per agreement, an amount of
¥ 5,000 paid on signing the agreement
and balance in three equal annual
instalments of &20,000 each on
31st December each year. The hire
vendor charged interest @ 5% p.a. on
yearly balance. Depreciation was
charged @ 15% p.a. on straight-line
method.

Ascertain the cash price of the machine
and prepare (i) Machinery A/c and
(i) M/s Jai Hind Machinery’s A/c in the
books of Assam Traders.
1 s, 2010 @If¥ey S GOt @t &1
ow cifbcied @ o3 mioe.abl G
o Il pfE WP, e A weEe
5000 B fmr @ wWE Id @@
20,000 Bere «=f6 = I, Roga ofee
it s fef¥e sfvmy dana et =fs
W?@wmemmﬁw‘,mqﬁ
w1 Iq | v 8T e T 15% ES
fe3-fe ~rafee wemn et =g | ‘

@ o o B w1 W wom Gurta

TS () e, w (ii) b &y o
@R fawis o5s 741 |

3+4+4=11

(b)

(a)

Or / Q331

Distingllish between the following : 7+4=11

TEHG SEEY AP N1 (S ¢

(i) Hire-purchase System and
Instalment-purchase System

SIE-FY Efe uF -5 e

(i) Complete Repossession and Partial
Repossession

oy Sidere WE weafAow Sfdere

Sri Madan Baruah took a colliery from
Sri Mohan Singh on lease for a period of
20 years from 1st January, 2008 on a
royalty of ¥ 16 per ton of coal raised
with a Minimum Rent of & 80,000 per
annum and power to recoup short-
workings was first four years of the
lease.

The annual coal raised were :

Tons
2008 3000
2009 3500
2010 5000
2011 9000

2012 10000



(22 )

From the above particulars, prepare
in the books of Sri Madan Baruah
{i) Royalties A/c, (ii) Shortworkings A/c
and (iii) Sri Mohan Singh's A/c. 3+4+4=1]

B v gwa3 B e s o[ 951 SEemefE
2008 v 1 TR e °[1 20 %99 A
Fee @I w@EIW WEey U
80,000 s fadifas a1 3’5 = =f% B
%w.'f%zww—om%‘@?wﬁwmm
3’5 |

Ie W gew v anaw fewae wawaw oM
27 SR AR S (PTRR SRR AR |

ITHT T TeAwR ST

Ber
2008 3000
2009 3500
2010 5000
2011 9000
2012 10000,

SHAE T 31 B T, FDIET (i) T
o, (i) 29 SeemRna e (ici) B Gz
Fie-3 o1 oz g

6.

(b)

(@)

.

(23 )

Or / g1

Whatlis _Royalty? Explain the different
types ,of royalty. Also distinguish
between Rent and Royalty. 2+4+5=11

oo 700 wees ifew emrenz 3
4 |

A head office at Kolkata .supplies goods
to its Dibrugarh Branch on cost. The
branch sells the goods for cash and on
credit and remits the proceeds to the
head office promptly. The branch
expenses are being met by the head
office by cheque.

FAITOA T e fegorws 4l T e
mwmumﬂﬁwmw
& 3@ WF Ay G s ;o T AR
(2R I | 27 ITEACE M43 B (6FF A
~If{TeTe A |



[ 24 ) ( 25,)
The following are the transactions ' rf ¥ o)
nch for the year ended Bad Debts writtén o 5,000
relating to the bra gl e withe g
31st March, 2014 : LEKIR e
- Cheque sent to branch for expenses ;
2014 @ 31 Wh WA W@ (T TR . L. T
=TT (FRCTRTE TS M 2 Salaries 25,000
e 5 Gicel
Stock at branch on 01.04.2013 30,000 Rent 14,500
01.04.2013 FfaCa AR 15 T4 &
Petty Expenses 500 40,000
Debtors at branch on 01.04.2013 40,000 5541 59
01.04.2013 =HCe <=R =W Stock at branch on 31.03.2014 45,000
31.03.2014 S1R¢4 *M4< bicic]
Goods sent to branch during the year 2,25,00Q LY
TR AT (R T IE Prepare Dibrugarh Branch A/c and
Total sales at branch (including ( 4 goods sent to Branch A/c in head office
cash sales ¥ 1,10,000) 3,70,000 books. Show Branch Debtors A/c as a
e . art of worki X +3+2=
=< 32 7 F (35% RE 1,10,000 5377%) p your working note 6+3+2=11
T3 Trers 3RS Rgers =mm BHet s ana
Goods returned by branch 10,000 (a9 T ﬁ'ﬂﬁ S
e T 3 e ot I G b1 e Rowet ofY e IR
Goods returned by customers 10,000 rysq |
21531 7 3% fRe ‘ Or / 5=l
Cashi received from debtors 2,10,000 ‘ (b)) In the context of Branch Accounts,
ORI 1 WY Fo 4 explain the following : 243+3+3=11
Discount allowed to debtord) 10,000 151 RBpet epmre ware frufere e fo ; |
TS AT frm = (ij Depreciation on Branch Fixed
Assets
R R e WA

- AAAA s -




7. fa} A, Band Care partners in a partnership
firm. They decided to dissolve the
partnership on 31st December, 2013.
Their Balance Sheet as on
31st December, 2013 was as follows :
A, BE# C 929 Smama ofedee S |
31 fezrR, 2013 wfity eseme ImA
fRzenernes 79w Fem ) 31 o, 2013
TR (TSER I TRacd oS
3R Tfee

Balance Sheet / ©5@-71g
Liabilities T Assets
a4 B oG
A’s Capital 2,00,000 Cash
A3 P A 5
B's Capital 60,000 Cs Capital 20,000
B-9 y74S fox | A

( 26 )

) Inter-branch Transactions
NI SN

fuz) Cash-an-transit
SAT SRS I W

fiv) Goods-in-transit

AT =IET <3 3E

Realization A/c (Dr.) 90,000

N, SR et (cuf)
2,60,000

1,50,000

2,60,000

(®)

(27 )

Cis insolventiand cannot pay anything.
Pass__Joumal Entries and prepare
Ledger Afics in the books of the firm :

5+6=11

C- 5w ream W 98 @ e Rna |
HiF SR oS T

(i) Just prior to decision in Garner vs.
Murray
st qAT LR P efeme At

(ii) After decision in Garner vs. Murray

sneffq T Teas Brare e #E

Or / s311

What do you mean by Amalgamation of
firms? What are the major objectives of
amalgamation? Name the different
forms of amalgamation.

TRA T @Faeed e o
@i 1 Sowepz & R0 @ derm
Rfew orafemT{es TN S 7901

* %k X

2+6+3=11



